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() Smoke = Smoke
(o) Smoke = Fire
(C) Somke \V FireV —Fire
(3) (Smoke = Fire) = (~Smoke = —Flire)
(a) (Smoke = Fire) = ((Smoke N Heat) = Fire) *
s) ((Smoke N Heat) = Fire) < ((Smoke = Fire) V (Heat = Fire)) *
) BigV DumbV (Big = Dumb) *
(7)) (Big A Dumb) A ~Dumb *
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() Tt will either rain today or it will be dry today.
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(o) If Jane and John are not in town we will play tennis.

(C) You will not pass this course unless you study.
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() P=Q
(o) (P=-Q)=R
(z) ~(PA-Q)= (-RVQ)
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(W) P=Q,-QF -P
(©) P=QF-Q= P *
(7)) P=Q,Q=RFP=R*
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(W) P=Q,-QF -P
(&) F=(=PAP)AP
() F(PVQA-P)=Q *
) P=Q,Q=R-FP=R *
A F(PVQ)=—=(-PA-Q) *
) P=QF-Q=-P
G F((P=QA~(P=R)=(P=Q) *
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() (PVQ)A-P)=Q
(o) (PVQ)=~(-PA-Q) *
@ (P=Q)A~(P=R)=(P=Q) *
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